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Bachelor of Commerce (B.Com.-10/16)

Second Year Examination, 2019 (June)

Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION–A/� � � � � � 
 �

(Long Answer Type Questions)/������� �������� ����� �	���

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2×19=38)
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1. Define financial planning and write a note on the need of
financial planning.

������� ����	
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������� ���
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�������� �
� ��� �������� ������	�

2. What is meant by working capital forecast? Briefly explain
the techniques used in making such forecasts.

��������� ������ � ���� !��� "	� #��� ������ $�	��� $�%� &"� �'��
� �	
�� !��� !	(� �'� #�� ���)��	(� ��� "(�*���� +������ ���
��

3. The following data is related to a small manufacturing
company:-

��,�������� "(!�� ��� �-� � ��!������ �(!��� "	� "(.(�)��� $��

Fixed cost Rs.1,60,000.00

/01��&�� ��2�3

Varibable cost 60% of sales

/��
���������� ��2�3 �.4�� ��� 567

Calculate - 2����� ���
�

(i) PIV ratio  ����� !�8��� �� ���

(ii) B.E.P. "!� ��9:	�� �.;��
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(iii) Sales required to earn a profit of Rs. 20,000.00

<6=666>66� ?���	� ����� ��
��� �
�	� �	� ���� �.4�

(iv) Profit at an estimated sales of Rs.4,40,000.00

@=@6=666>66� ?���	� ��� �� !����� �.4�� �
� ����

(v) Margin of safety when sales are Rs.8,00,000.00

A=66=666>66� ?���	� ��� �.4�� �
� " 
*��� ��� "�!��

4. The balance-sheets of a limited company as at 31st March
2016 and 31st March 2017 were as following:-

BC� !���=� <6C5� ���
� BC� !���� <6CD� ��	� ��� ���!�	EF� �(���
�	� ���1���� ���G�	� ��,�� �'��
� 1�	H

Liabilities 31-03-16 31-03-17 Assets 31-03-16 31-03-17
������ � � ��	�
���� � �

Share Capital 4,50,000 6,50,000 Fixed Assets 4,67,000 8,30,000
�
���	�
�� ���������	�
����
General Rescore 50,000 75,000 Stock 1,10,000 1,30,000
��������
�� �������
P & LAIC 1,00,000 6,50,000 Debtor 1,80,000 1,95,000
�� ��!��"#��$� �%"��&
Debentures 1,00000 2,00,000 Cash 20,000 25,000
'(��	)� �&�%�*+�
Creditors 87,000 1,10,000 Preliminary Exp 10,000 5,000
�%"��& 	,�&�� ���-��

Total 7,87,000 11,85,000 7,87,000 11,85,000

���%.�

Prepare a schedule of changes in working capital and
statement of sources and Application of funds.

��������� ���
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SECTION–B/� � � � � � � � �

(Short Answer Type Questions)/���� � �������� ����� �	���

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4×8=32)

���� � �	��� ,�	-� ���� 
	9� ����� +0	)� 12	*	��� !	+�� �����  %��

���� ����� ��$���� ����� ���  +&� 
	9� ����� 
���  �6	( *�

���#�  �	7		 �	(�	��� �	�� 8����� ��� ��!+� .	*� ��/�� ����	��� ��

12	*� %���� ���#

1. X Ltd. has a current ratio of 4.5:1 and acid test ratio of 3:1.
If its inventory is Rs.1,20,000 = 00 find out its current
liabilities.

X Ltd� ��� ����� �� ���� @>IJC� �1��� �,�� �
��� �� ���� BJC� $��
���� &"��� 0��K�� C=<6=666� ?� $�	� ��	� ����� ����L�� M��� ���
��

2. Calculate contribution from the following data-

��,�� "!(��	(� "	� �(������ ��� 2����� ���
�H

(a) Sales Rs.1,50,000 = 00, PIV Ratio = 40%

�.4�� C=I6=666� N� 66=� ����� !�8�� �� ���� N@67

(b) Fixed cost Rs. 40,000 = 00, Profit  Rs. 30,000 = 00

01����� ��2�� ?� @6=666� N� 66=� ����� ?� B6=666� N� 66

(c) Fixed Cost Rs. 50,000 = 00, Loss = Rs.20,000 = 00

01����� ��2�� ?� I6=666� N� 66=� $���� ?� <6=666� N� 66
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3. Mention five items each of Receipt and payment in cash

Budget.


�	�EF� .
�� !	(� �'����� ��!G� �� 2���� ��� IHIO����H����� !��	(� ��

PQ�	��� ���
��

4. Discuss the functions of a finance manager.

��� ����� �'.;)�� �	� ����	�� ��� ���	���� ���
��

5. What do you understand by the Analysis of financial

statement?

������� ���
���	(� �	� ����	����� "	� ���� #��� "!R�	� $�(%

6. How would you study the changes in working capital in a

concern?

��"�� "(01��� ��� ��������� ���
�� !	(� $�	�	� ���	� ��
�����	(� ��� ���

��"� �'��
� �)���� �
	(2	%

7. Write a short note on inventory control.

0��K�� ���;8���� �
� ��� "(�*���� �������� �������

8. What are the important profitability ratios?

Q����������� �	� �'! ��� �� ���� #��� $�%
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SECTION–C/� � � � � � ! �

(Objective Type Questions)/��"� ��#$� �	���

Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory. (10×1=10)

���� � �	��� ,�-� ���� %�� �4��� ��� �:9� �����  %��� ���� ����

��$���� ����� ���  +&� &�� ��4�� 
���  �6	( *�� ��#� 8�

�	��� ��� �"	
� ����� 
 �!	�(� ���#

State true or false :

1. Main objective of financial management is maximization of

profits.

������� �'.;)� ��� �'! ��� PS	��� �����	(� ��	� ��)��!� �
��� $��

2. 'Financial Management' and 'Managerial finance' are

synonym term.

T������� �'.;)U� ��(!G� T�'.;)���� ����U� ���������� $��

3. Financial Planning depends upon future estimations.

������� ����	
�� ������ �� !���	(� �
� ��)��
�� $�	��� $��

4. Over capitalization is more dangerous than under

capitalization.

������
��
��=� ;���� ���
��
��� "	� ��)�� ���
���� $�	��� $��



5. Payout ratio is very low under strict dividend policy.

�V�	
� �����(��� ����� �	� �;�2��� �� 2���� �� ���� .$ �� ����� 
$��

$��

6. Averrage collection period evaluates all aspects of credit

polcy.

���"�� �"���� ���)�=� "���� ����� �	� "���� �$� ��	(� ��� !�Q��(��

�
��� $��

7. Fund is the difference between fixed assets and current

assets.

��	��=� 01����� ",����� ��(� ����� ",����� ��� �(�
� $�	��� $��

8. Internal rate of return and time adjusted rate of return are

not the same thing.

�'L���� ��� ��;��
�� �
� ���
� �'L���� ��� "!�� "!���	�
�� �


��2H��2� $�(�

9. The analysis of financial statements by a shareholder is an

example of External analysis.

��� �(��)�
�� W�
�� ������� ���
���	(� ��� ����	����� ��X� ����	����

��� P��$
��� $��
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10. Margin of Safety shows the excess of actual sales over

budgeted sales.

" 
*��� "�!�=� .
���� ��4�� "	� ��0����� ��4�� �	� ���)#�� ��	

�������� $��
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